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(1) DO0O0OD0OO0OO0O0 sinf,cos O0O0O0O0O0DOODO

(a) sin(30) =

(b) cos(30) =

(c) sin(40) =

(d) cos(40) =
hint: (cos(#) + jsin(#))™ = cos(nb) + j sin(nf)

(2 DOoOOoOOoOOoOOOOD
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k=0000 2z = -

k=1000 2 =|e327 =17

k=2000 2z = -

k=3000 25 = -

k=4000 2z = =
=10 =10000000000000000000000024=1000

{70,21, 22,23} = Noooooo
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(3) 000000 °=10000000



(4 0000000000 OOOO0OCOOO0O0DOODOO0OOOOODOODOOOOODOOO
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log(AB) =log(A) +log(B) log(AP) = plog(A)

A log, =
log <B> = log(A) — log(B) logz — logy x
log1o2 ~ 0.3010 log1o3 = 0.4771
log9 5 ~ 0.6990 logo 7 ~ 0.8451

(a) logpl2 =

(b) logls =

() log25 =

(d) log;y35 =

(e) logyg (%) =

(f) 10%10(%) =

() 10g10(i) =

(h) 10g10(%) =

(G) logi () =

(k) loglo(%) =

(5) 00000000 0UDOODODOODOOOODOOO

(a) log.(j) =

(b) log.(1+j) =

() log(-1) =

(@) log(—¢) =

(e) log.(je) =




(6) DDDDDDDDDDDﬁ§m§1OODDDDDDDDDDDDDDDDDDDDDDDD

f(z) = 20log;, (@)

x| 1+ a2

T2 logyg ﬁ f(z)
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